

$$= 2e^{2x} + 2e^{2x} + 4xe^{2x}$$

$$\frac{dy^2}{dx^2} = 4e^{2x} + 4xe^{2x}$$

$$\frac{ky}{dx} = k(e^{2x} + 2xe^{2x}) = 4e^{2x} + 4xe^{2x}$$

$$ky = 4(xe^{2x}) = 4xe^{2x}$$

$$\text{then } \frac{dy^2}{dx^2} - \frac{ky}{dx} + ky = 0$$

$$(ke^{2x} + 4xe^{2x}) - (ke^{2x} + 8xe^{2x}) + 4xe^{2x} = 0$$

$$\frac{d^2y}{dx^2} - \frac{ky}{dx} + ky = 0 \text{ is correct}$$

3) HARUNA ANANTA JOSITH 19161604102 Electrical Engineering

4) Find the integral of $e^x \sin 2x$ with respect to x

$$u = e^x \text{ and } du = e^x dx, dv = \sin 2x, dv = -\frac{\cos 2x}{2}$$

$$\int u dv = uv - \int v du$$

$$\int e^x \sin 2x = -\frac{e^x \cos 2x}{2} + \frac{\int e^x \cos 2x}{2}$$

$$\int \frac{e^x \cos 2x}{2} = \frac{1}{2} \int e^x \cos 2x$$

$$\int e^x \cos 2x = \left(\frac{e^x \sin 2x}{2} - \frac{\int e^x \sin 2x}{2} \right)$$

$$\int e^x \sin 2x = \frac{e^x \sin 2x}{2} - \frac{\int e^x \sin 2x}{2}$$

$$-\frac{\int e^x \sin 2x}{4}$$

let $\int e^x \sin 2x$ be y

$$y = \frac{e^x \sin 2x}{2} - \frac{e^x \cos 2x}{2} + C$$

$$dy = \frac{e^x \sin 2x}{2} - \frac{e^x \cos 2x}{2}$$

$$dy = e^x \sin 2x - 2e^x \cos 2x + C$$

$$y = \frac{e^x \sin 2x - 2e^x \cos 2x}{5} + C$$

$$\int \frac{e^x \sin 2x - 2e^x \cos 2x}{5}$$

$$\int e^x \sin 2x = \frac{e^x \sin 2x - 2e^x \cos 2x}{5} + C$$

HARUNA ANANTA JOSITH 19161604102 Electrical Engineering

1) Find $\frac{dy}{dx}$ if $y = \frac{2 \cos 3x}{x^3}$

$$y = \frac{2 \cos 3x}{x^3}$$

$$\text{let } u = 2 \cos 3x, v = x^{-3} \quad \frac{du}{dx} = -6 \sin 3x \quad \frac{dv}{dx} = -3x^{-4}$$

$$\frac{dy}{dx} = \frac{u \frac{dv}{dx} - v \frac{du}{dx}}{v^2}$$

$$= \frac{x^3(-6 \sin 3x) - 2(3x^2)(-3x^2)}{x^6}$$

$$\frac{dy}{dx} = \frac{-6x^3 \cos 3x - 6x^2}{x^6}$$

2) If $y = xe^{2x}$, show that the differential equation $y''(dx^2) - 4y'(dx) + 4y = 0$

$$y = xe^{2x}$$

$$\frac{d^2y}{dx^2} - \frac{4dy}{dx} + 4y = 0$$

$$\text{let } u = x, v = e^{2x}, \frac{du}{dx} = 1, \frac{dv}{dx} = 2 \cdot e^{2x}$$

$$= \frac{dy}{dx} = e^{2x} + 2xe^{2x}$$

$$\frac{dy}{dx} = e^{2x} + 2xe^{2x}$$

$$\frac{dy}{dx} = e^{2x} + 2xe^{2x}$$

$$\frac{d^2y}{dx^2} = 2e^{2x} + 2xe^{2x}$$